


ItemNumber

12
101

102
103
104
105
106
107
108
109
111
112
113
114
115
116
117
118
120
121
122
125
126
127
128
129
130
140
141
142
143

PartNumber

CAC-1206-1
N061667

N063320
CAC-1196
N044359
Z-D24819
NO017592SV
N134023
A03865
NO87118SV
NO003307SV
N105826
A10162
SUDL-9-1
SSF-3156
N137875
D25731
SSF-995
000000-00
5140209-03
A16223
NO001415
N121985
N082427
NO075624
D24595
AC-0815
NO036518
NO036517
D21127
A19123

Parts List for C2002 Type 8

Description

CLAMP HOSE .250 ID
SHROUD

SHROUD

HEAD UMC

TUBE SEAL

GASKET HEAD UMC GRAPHITE
VALVE PLATE ASSY
OUTLET TUBE
GASKET UMC

PUMP ASSEMBLY
PRESSURE SWITCH
BRACKET

AIR HOSE
SCREW#8-32X.375/.34
SCREW#10-9X.500THD
POWERCORD
ISOLATOR PUMP
SCREW#10-24X.875
No Longer Available
BRUSH PAIR KIT
HOSE
ROCKERSWITCH
SCREW#10-14X.75
SCREW

HANDLE

FAN UMC MOTOR

BELT TIMING
CON ROD ASSY

CYLINDER KIT
SCREW#10-24X.563PA
SCREW

QtyRequired

e e e T e e e T O T O T e I S S S ) T e e e e e e e e T e e e T e e T



